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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj n sus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Applied Psychology ? Describe the scope of 

applied psychology. 

O;Okgkfjd euksfoKku D;k gS \ O;ogkfjd euksfoKku ds 

dk;Z{ks= dk o.kZu dhft,A 

2. What do you mean by Guidance ? Describe the areas 

of guidance. 

funsZ’ku ls vki D;k le>rs gSa \ funsZ’ku ds {ks=ksa dk o.kZu 

dhft,A 

3. What is Well-being ? Discuss in detail. 

dY;k.k D;k gS \ foLr`r O;k[;k dhft,A 

4. Give the definition of Industrial morale and discuss its 

determinants. 

vkS|ksfxd eukscy dh ifjHkk”kk nhft, rFkk blds fu/kkZjdksa 

dh foospuk dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa l s dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Write short notes on any four of the following : 

fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ fyf[k, % 

1. Factors of Job satisfaction 

dk;Z lUrqf”V ds dkjd 

2. Reducing monotony 

uhjlrk dks nwj djus ds mik; 

3. Describe the nature of educational guidance. 

‘kSf{kd funsZ’ku dh izd`fr crkb;sA 

4. Importance of Applied Psychology. 

O;ogkfjd euksfoKku dk egRoA 

5. Scope of Health Psychology 

LokLF; euksfoKku ds {ks= 

6. Types of Happiness 

vkuUn ds izdkj 

7. Difference between counselling and guidance.  

ijke’kZ rFkk funsZ’ku esa vUrj Li”V dhft,A 

8. Cardiovascular disease 

ân;&laoguh jksx 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

1. National Institute of Applied Psychology in U. S. A. 

was established in .................... . 

(a) 1937 

(b) 1940 

vesfjdk esa us’kuy bULVhV~;wV vkWQ ,IykbM lkbdksykWth dh 

LFkkiuk gqbZ 
---------------------- 

esaA 

¼v½ 1937 

¼c½ 1940 

2. Paterson has told total ............. types in Guidance. 

(a) 6 

(b) 5 

iSVjlu us funsZ’ku ds dqy 
----------------------

 izdkj crk, gSaA 

¼v½ 6 

¼c½ 5 

3. The deficiency of Vitamin „A‟ weakens the ............ . 

(a) Ear 

(b) Eyes 
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foVkfeu „A‟ dh deh ls detksj iM+ tkrh gS 
----------------------

A 

¼v½ dku 

¼c½ us=T;ksfr 

4. Marriage counselling needed ................ . 

(a) Adjustment of husband-wife 

(b) For the development of children 

oSokfgd ijke’kZ dh vko’;drk gS 
----------------------

A 

¼v½ ifr&iRuh lek;kstu ds fy, 

¼c½ ckydksa ds fodkl gsrq 

5. Stress in related with .............. . 

(a) Headache 

(b) Throat pain 

ruko dk lEcU/k gS 
----------------------

A 

¼v½ fljnnZ 

¼c½ xyk nnZ 

6. Brick laying experiment is associated with ................ . 

(a) Gilbreth 

(b) Taylor 

b±V pqukbZ iz;ksx dk lEcU/k gS 
----------------------

A 

¼v½ fxyczsFk 

¼c½ Vsyj 

7. Guidance movement began .................. . 

(a) America 

(b) Britain 

funsZ’ku vkUnksyu izkjEHk gqvk 
----------------------

A 

¼v½ vesfjdk 

¼c½ fczVsu 
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8. Counseller is a trained ............... . 

(a) Doctor 

(b) Psychologist 

ijke’kZnkrk ,d izf’kf{kr 
----------------------

 gksrk gSA 

¼v½ fpfdRld 

¼c½ euksoSKkfud 

9. In which work duration the accident take place 

maximum ............... ? 

(a) Long 

(b) Short 

fdl dk;Z vof/k esa nq?kZVuk ds vf/kd gksus dh lEHkkouk 

jgrh gS \ 

¼v½ yEch 

¼c½ NksVh 

10. Two-factor theory of Job satisfaction is propounded  

by ................ . 

(a) Herzberg 

(b) Maslow 

dk;Z lUrqf”V ds f}&dkjd fl)kUr ds izfriknd gSa 
-----------------

A 

¼v½ gtZcxZ 

¼c½ eSLyks 
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